
3. Анализ
 

эволюции
 

квантового
 

состояния
 

в
 

стационарных
 

потенциалах.
 Как

 
меняется

 
ее

 
волновая

 
функция

 
со

 
временем, средняя

 
координата, 

дисперсия
 

координаты.

•В
 

начальный
 

момент
 

времени
 

система
 

находится
 

в
 

смеси
 

первого
 

и
 

второго
 дискретного

 
состояния

 
бесконечно

 
глубокой

 
потенциальной

 
ямы. Исследовать

 его
 

эволюцию
 

.

•В
 

начальный
 

момент
 

времени
 

система
 

находится
 

в
 

смеси
 

первого
 

и
 

третьего
 дискретного

 
состояния

 
бесконечно

 
глубокой

 
потенциальной

 
ямы. Исследовать

 его
 

эволюцию
 

.

•В
 

начальный
 

момент
 

времени
 

система
 

находится
 

в
 

смеси
 

первого
 

и
 

второго
 дискретного

 
состояния

 
гармонического

 
осциллятора. Исследовать

 
его

 
эволюцию

•В
 

начальный
 

момент
 

времени
 

состояние
 

равномерно
 

распределено
 

по
 

всех
 потенциальной

 
яме. Исследовать

 
его

 
эволюцию

 
.
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=0.900316
a3

 

=0.300105
a5

 

=0.180063
a7

 

=0.128617
a9

 

=0.100035
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